1. At
(&L (Ef9 : &8, %)
. 1995 | 199 1997 | 1998 1999 [ 2000(e) [ EJ1E
s = 6,727.2 7.777.7 11,679.5 12,9348 | 11,5436 12,987.5 1.5
g = 255 38.3 211.4 468.3 13.6 104.4 -13.7
| Al 6,752.7 7,816.0 | 11,8809 | 13,2031 11,657.2 13,091.9 11.4
(2)e320F
FED) (E9) 28, %)
- B 1995 1996 1997 1998 1999 | zoo(e) =Jle
e 3,242.8 3,203.5 6,643.4 5.137.7 5,418.2 6,679.7 n/a
2417| == 115.0 77.0 32.7 - - - n/a
vl 3,357.8 3,280.5 6.676.1 5,137.7 5,418.2 6.679.7 n/a
[NES 665.1 777.4 1,545.2 1,260.5 535.3 575.9 -27.5
70 A & 1,265.3 1,301.3 1,352.7 2,543.1 2,157.5 2,090.8 15.3
2 1,930.4 2,078.6 2,897.9 3,809.6 2.692.8 2.666.7 -8.8
['ES 736.8 1.256.2 1,067.1 2,576.3 2,409.4 | T1,461.8 9.2
o E TE 240.8 388.6 406.0 765.0 777.2 1,359.1 11.8
24 977.6 1,644.8 1,473.1 | 3.341.3 3,186.6 2,820.9 17.0
e 155.4 403.3 123.6 176.4 85.3 225.3 26.6
X TE - - - - - - -100.0
A | 155.4 403.8 123.6 176.4 85.3 | 2253 17.8
[NES 300.1 3514 491.8 367.2 85.3 514.4 -3.0
g 7| =& 2.3 12.6 - 0.3 22.8 34.2 275
LA 3024 | 3640 491.8 367.5 108.1 5486 | 0.0
ES 3.4 36 17.0 5.0 51.6 408 63.5
2 X =2 0.2 2.4 - 97.3 1.0 5.5 -1.6
| L A 3.6 6.0 17.0 102.3 52.6 46.3 55.0
EN 51036 5,995.9 9,888.1 9,523.) 8,585.1 9,497.9 10.7
A = 1,623.6 1,781.8 1,791.4 3,411.7 2,958.5 3.489.6 14,2
AA 6.727.2 7.777.7 11,679.5 12,934.8 | 11,543.6 12,987.5 11.5
Eed) (B9 48, %)
T = 1995 1996 1997 1998 1999__] 2000(e) | EIJIE
ST 2,368 2.238.5 5,669.4 3,887.2 3.809.8 5.640.5 n/a
7] 1,845.8 1.955.3 2,384.6 3,354.9 2.591.2 2,482.7 -0.6
o = 755.0 1,435.0 1,125.1 2,848.3 2,925.3 2,540.6 25.3
el ™M A} 135.1 403.8 117.9 174.2 85.3 225.3 17.8
& 7| 190.4 266.8 441.0 232.9 74.1 172.7 12.3
A~ Xy 3.4 38 17.0 102.4 52.6 46.4 66.2
A Al | 51665 6,303.0 9,755.0 10.599.9 9,538.3 11,108.2 18.1
=¥ 7] 1,121.0 1,042.0 1,006.7 1,2505 | 1,608.3 1,033.2 n/a
70 A 84.6 123.3 513.3 454.6 101.6 183.9 -38.8
ol 2226 209.9 348.0 493.0 261.3 280.3 -9.8
S| &l o A 20.3 - 5.7 2.2 - - n/a
H 7| 112.0 97.2 50.8 134.6 34.1 375.9 ~11.5
AR 0.1 2.3 - - - - -100.0
& A 1,560.7 1,474.7 1,924.5 2,334.9 2,005.3 1,879.3 -3.5
24 7] 163.0 2,280.5 6,676.1 5,137.7 5,418.1 8,679.7 n/a
7 H 5,125.2 2,078.6 2,897.9 3,809.5 2,692.8 2,666.6 -8.6
of & 977.6 1,644.9 1,473.1 3,341.3 3,186.6 2,820.9 17.0
Al A 155.4 403.8 123.6 176.4 85.3 225.3 17.8
2 7| 302.4 364.0 491.8 367.5 108.2 548.6 0.1
& A 3.8 5.9 17.0 102.4 52.6 46.4 55.0
| 6,727.2 7.777.7 11,679.5 12,934.8 | 11,543.6 12,987.5 11.5
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(3)RF20t
o) (B9l : 24, %)
+ B 1995 1996 1997 1998 1999 | 2000(e) =l
L E 14.0 143 5.6 701.3 13.6 104.4 6.3
= B 11.5 24.0 195.8 367.0 0 0 -100.0
L A 25.5 38.3 211.4 4683 | 136 104.4 =137
(BEH) (29l - e, %)
= ] 1995 1996 1997 1998 1999 | 2000(e) =71
AEAEES 13.2 31.7 210.4 613 13.6 103.4 ~3.4
BAlH 2 E 12.3 5.6 1.0 0.0 0.0 1.0 -100.0
A MMH|REE 0.0 1.0 0.0 7.0 0.0 0.0 -100.0
Al | 25.5 38.3 211.4 468.3 13.6 104.4 -13.7
2, BXJAlE
(&g EORET)
+ B I 1995 | 1996 1997 1998 1999 | 2000(e) | FAHI(~99)
B = 33415 4381.7 3.315.7 3.104.2 642.0 1.086.0 | 32,2855
2 = 84.4 528.3 1,128.9 106.6 6.2 12.5 2,005.9
Al 34259 | 458100 4,444.6 3,210.8 648.2 1,101.4 | 34,295.4 |
(2)eZS0t (Tl - 23D
T 8 1995 1996 1997 1998 1999 | 2000(e) | SH|(~99)
EXN/AZ 1.076.2 1,047.2 2,565.6 637.6 1967 406 | 11,1045
Al A /A 1,097.8 1,353.2 349.8 414.0 163.9 451.3 | 10,450.1
R&D 1,097.4 1.549.1 393.9 1,983.4 192.1 306.5 | 10,2721
7] Ep 70.1 38.2 6.4 69.2 89.3 290.5 462.8
A 3,341.5 4,381.7 3,315.7 3,104.2 642.0 1,088.9 | 32,289.5
(3)FF=0 (EEEREE)
= 1995 1996 1997 1998 1939 | 2000(e) | FAHI(~99)
EXN/HE 37 0.3 114.6 37.0 05 2.2 1531
AlAd/&H| 22.5 93.9 416.1 6.4 0.7 3.4 569.2
R&D 55.3 431.6 353.1 59.7 5.0 6.9 1,017.4
7l Et 3.3 2.6 245.1 9.5 0.0 0.0 266.2
\ Al 84.3 528.4 | 1,128.9 1066 [ 62 125 | 2,005.9
3 Mg
(Hag (9] - o, %)
I = 1995 1996 | 1997 1998 1999 | 2000(e) =Jte
= = 11,683 11,366 12,854 10.968 10,225 10,410 57
£ = 741 592 802 443 86 105 -24.8
Al 12,424 11,958 13,456 17,411 | 10,311 10,515 47
%) gulol =3
(2)&Z =0k
-
(Ropg) (B4 8. %)
l T =2 1995 [ 1996 | 1997 1998 | 1999 | 2000(e) ot
D] 1.228 1,004 2,066 1,353 T.217 T.224 6.1
of L7} et 1,069 1,077 1,147 1,038 983 1,017 9.8
7| &= 2,515 3,211 3,434 2,780 3,046 3,126 4.7
71 k 5,871 5,984 6,207 5,797 4,979 5,043 5.5
Al 11,683 11,366 12,854 10,968 | 10,225 10,410 57
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